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20x4=80 MARKS

Botany: The Living World, Biological Classification, Zoology: Animal Kingdom
Chemistry: Some Basic Concepts of Chemistry, Structure of Atom,
Physics: Units & Measurements, Motion in a Straight Line, Motion in a Plane, Laws of Motion

1. R.H. Whittaker classified the organisms into five
kingdoms on the basis of the following criteria,
except
1) Cell structure
2) Thallus organisation and mode of nutrition
3) 16S rRNA sequences
4) Phylogeny

2. Which among the following is not a defining
features of all living organisms?
1) Consciousness
2) Cellular organisation
3) Reproduction
4) Metabolism

3. In six kingdom classification, which kingdom was
further divided into two kingdoms?
1) Monera
2) Plantae
3) Fungi
4) Animalia

4. Which of the following is not a free living nitrogen
fixing bacteria?
1) Azotobacter
2) Clostridium
3) Rhizobium
4) Klebsiella

5. The cell wall is made up of two halves resembling
soap box in
1) Dinoflagellates
2) Diatoms
3) Euglenoids
4) Sporozoans

6. Which of the following group of protista forms a
connecting link with plants, animals and fungi?
1) Slime moulds
2) Protozoa
3) Euglenoids
4) Sporozoans
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7. Euglena does not

1) Have chlorophyll a

2) Reproduce asexually

3) Have rigid cell wall

4) Behave like heterotrophs

8. Match the following

a) Flagellated |i) Marine forms have silica shell

protozoan on their surface

b) Ciliated i) Include organism which cause

protozoan a disease that has a staggering
effect on human population

c) Amoeboid |iii) They have gullet that opens to

protozoan the outside of the cell surface

d) Sporozoans|iv) Its parasitic form cause
disease like sleeping sickness

1) a(iv), b(i), c(ii), d(iii)
2) a(iii), b(iv), c(ii), d(i)
3) a(iv), biii), c(i), d(ii)
4) a(ii), b(iv), (i), (i)

9. Classification system given by Linnaeus and

10.

11.

Hutchinson respectively are
1) Natural and artificial

2) Atrtificial and natural

3) Atrtificial and phylogenetic
4) Phylogenetic and artificial

According to binomial nomenclature, correctly
printed scientific name of wheat is

1) triticum Aestivum

2) Triticum aestivum

3) Triticum aestivum

4) Triticum Aestivum

In taxonomic hierarchy

1) Species serves as the basic and highest
category

2) Species serves as the basic and lowest
category

3) Division serves as the basic and highest
category

4) Kingdom serves as the basic and lowest
category
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Archaebacteria are similar to eukaryotes because
the former

1) Have 80S ribosomes

2) Lack 70S ribosomes

3) Have introns in their genetic material

4) Have cellulosic cell wall

(a) Chitinous cell wall

(b) Septate hyphae

(c) Formation of conidia
Above features are true for
1) Rhizopus

2) Mucor

3) Ustilago

4) Claviceps

Mark the odd one out w.r.t. asexual spores.
1) Zoospores

2) Ascospores

3) Sporangiospores

4) Conidia

Cell division is the mode of reproduction as well
as growth in

1) Hydra

2) Multicellular algae

3) Diatoms

4) Mosses

Chordates are not

Complete the sentence by selecting correct
option

1) Pseudocoelomic

2) Triploblastic

3) Bilaterally symmetrical

4) Possessing organ—system level of organisation

Choose the odd one w.r.t. super class Tetrapoda.
1) Mammalia

2) Osteichthyes

3) Aves

4) Reptilia

Excretion is carried out by proboscis gland in
1) Myxine

2) Saccoglossus

3) Hyla

4) Hippocampus
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Which of the following animals are true
coelomates with bilateral symmetry?
1) Adult echinoderms
2) Aschelminthes
3) Platyhelminthes
4) Annelids

Among the following which organism is a
pseudocoelomate with bilateral symmetry?

1) Grass—hopper

2) Adamsia

3) Sea horse

4) Wuchereria

In which class of animals are air sacs connected
to lungs to supplement respiration?

1) Chondrichthyes

2) Osteichthyes

3) Aves

4) Reptilia

Pennatula is commonly known as
1) Sea pen

2) Sea hare

3) Sea urchin

4) Sea cucumber

In box given below how many animals possess
tube feet for locomotion?
Euspongia, Pila, Dentalium,
Balanoglossus, Antedon

1)2

2)6

3)5

4)4

Asterias,

A member of the largest phylum of animal
kingdom is

1) Locusta

2) Exocoetus

3) Sepia

4) Trygon

Which of the following animals is diploblastic?
1) Lancelet

2) Magur

3) Liver fluke

4) Sea walnut
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Choose the odd one w.r.t. presence of ventral
solid nerve cord.

1) Doliolum

2) Scorpion

3) Spider

4) Periplaneta

Statocystacts as a balancing organ, present in
1) Prawn

2) Earthworm

3) Cockroach

4) Wall lizard

Choose the incorrect feature w.r.t.
hemichordates.

1) Presence of stomochord

2) Worm like marine animal

3) Presence of proboscis gland

4) Body is metamerically segmented

Select the incorrectly matched pair.
1) Aschelminthes — Wuchereria

2) Annelida — Chaetopleura

3) Arthropoda — Locusta

4) Echinodermata — Ophiura

Musca domestica belongs to the phylum
1) Arthropoda

2) Insecta

3) Muscidae

4) Diptera

The number of atoms present in 0.48 g of Oz is
(Na =6 x 10%)

1) 6 x 10%

2) 1.8 x 10%

3) 6 x 10%

4) 1.8 x 10%

Which of the following possess highest mass?
1) 22.4 L Ho at STP

2) 5gof H,

3) 0.3 mole of H»

4) 1.204 x 10%* molecules of H>

The minimum frequency among the following is
of

1) X-rays

2) y-ray

3) Infrared rays

4) Radiowaves
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In H—atom spectrum, the wavelength of radiation
emitted when electron falls from third excited
state to ground state is (Rn = Rydberg constant)
1) 16 /15Rw

2) 3/ 4RH

3) 9/ 8RH

4) 15 /16RH

The number of orbitals in a ‘I’ subshell is given
by

1) 21+1

2)1+1

3) 2(21 + 1)

4)21+2

Stark effect refers to the

1) Absorption spectrum

2) Splitting of spectral lines in electric field
3) Splitting of spectral lines in magnetic field
4) Emission spectrum

The mole fraction of solute in aqueous solution
containing 42.5% (w/w) NaNQs is

1) 0.251

2) 0.053

3) 0.215

4) 0.135

If threshold energy of a metal is 1.5 eV and
energy of incident photon on metal is 3 eV then
the kinetic energy of the photoelectrons will be
1)1.5eV

2)2.5eV

3)3.5eV

4)0.5eV

39. Which of the following is a possible arrangement

40.

of electrons in an atom?

Dn=51=3,m=4,s=+1/2
2)n=4,1=4,m=3,s=-1/2
3)n=5,1=4,m=2,s=+1/2
4hn=4,1=5m=3,s=+1/2

A gaseous mixture contains Hz and CO2 gases in
the ratio of 1 : 11 (w/w). The ratio of number of
atoms of Hz to COz in the mixture is

1) 4/3

2) 2/5

3)1/3

4) 217

6

34.

35.

36.

37.

38.

39.

40.

www.TrbTnpsc.com

H-o1am1 mipomensoulled, 6160 T CLOGTBTIS)
HenFd  Hemeoulled EHHSH HOT HEVELHG
alapBurg GeuellILBLD SHTaiFSer HIEmeVHEITLD
(RH = Rydberg womsle\)

1) 16 /15RH
2) 3/ 4Ry
3) 9/8Rn
4) 15 /16RH

@ I siemanidanl 1960 2 eiterm QT L Te0SH6MM 631
oTe TNl HeN®d BHTT6L GULPRISLILIBS B

1) 21+1

2)1+1

3)2(21 +1)

4) 2l +2

eOL TS alleneney Bend GNHSHBSH

1) o lehaise0 BBLoTenev

2) 10651 LeudhFlev BiBLomensy CamBaemer L& 60

3) FMhBLILSHHe0  BiBTemevds CHTBHMENL
L1165 8560

4) o 10pey BIBLOTENEV

42.5% (w/w) NaNO3 @& OsrewiL pilw
HMJF660 2 6iTer SHEWJLILIT6DT 65T Brome
L7 63T6OTLDT 601G

1) 0.251

2) 0.053

3) 0.215

4) 0.135

R 2 CourssdHear CHT_ss sybmed 1.5 eV
SLHALD, o GBeura g dle0 o _siten EINGY
CGumLneflen eummed 3 eV susa|bd BHHIHT6v,
eaMiilaiTeemisbaerlel BUibs SLBBEOTHIS
1) 1.5eV
2)2.5eV
3)3.5eV
4)0.5eV

LTedT6u(hHeueaTeU 3560 Q(h SlemIaed
61605 L_JTEIIH 61 66T FITSHEUILDTET SIGMLOLIL| 61517
Dn=51=3,m=4,s=+1/2
2)n=4,1=4,m=3,s=-1/2
3)n=51=4m=2,s=+1/2
AHn=4,1=5m=3,s=+1/2

@ eutu] sevemeuuled 1 @ 11 (wW/w) erens
aldHHHe0 Hz wommid CO2 eunuibselt o eitenet.
sevemauulsd 2 eiten Hz wmmid CO2 oiamidaweem
TexsTenfldensuller alldlsHLb
1) 4/3
2) 2/5
3)1/3
4) 217

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

41.

42.

43.

44,

45.

46.

47.

www.Padasalai.Net

50 g of magnesium carbonate (MgCQO3z) sample
decomposes on heating to give magnesium oxide
(MgO) and 11 g of carbon dioxide (CO3).
Percentage purity of MgCOg in the sample is

1) 42%

2) 25%

3) 30%

4) 58%

Mass of KOH solution required (50% (w/w)) to
neutralize 2 litre of 1 M HCI solution is

1) 112 g

2) 224 g

3)56¢g

4) 629

Percentage of magnesium in a biomolecule is
0.1%. The minimum molecular mass of the
biomolecule is (Atomic mass of Mg = 24 u)

1) 600 u

2) 24 x10°u

3) 1200 u

4) 24000 u

de-Broglie wavelength of an electron moving
with the speed of light is (h = 6.6 x 1073* Js)
(mass of electron = 9 x 103 kg)
1)24x10°m

2)2.4x10?m

3)48x10m

4)4.8x10°m

The ratio of orbital angular momentum of an
electron in 3p orbital to the electron in 3d
electron is

1)V2:3
2)3:4/2
3)V3:1
H1:3

The linear momentum of a system is

1) Always conserved

2) Never conserved

3) Conserved when net external force on the
system is zero

4) None of these

A particle is moving in a circle with constant
speed It has

1) Constant acceleration

2) Constant velocity

3) Non-zero tangential acceleration

4) Acceleration of constant magnitude
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The equation of trajectory of a projectile is given
by y = a?x — bx?, then its angle of projection is
1) tan(b)

2) tan}(a?)

3) tan"}(ab)

4 tan (%2)

A stone thrown upward with a speed of 3 m/s
from the top of a tower reaches the ground with
speed 9 m/s. The height of the tower is

(g = 10 m/s?)

1)2.6m

2)3.6m

3)45m

4)5m

If the length of rod A is (1.25 + 0.01) m and that
of rod B is (2.47 £ 0.01) m, then the difference in
the lengths of the rods is

1)1.22+0.1

2)1.22+0

3)1.12 +.02

4)1.22 .02

The acceleration-time (a—t) graph of a particle
moving along a straight line is as shown in
figure. If the initial velocity of the particle is 5
m/s then the velocity at the end of 7 s is

ﬂ(mls‘)

2

i 2 3 6 7
1] 145

>t (s)

-2

1) 5m/s
2) 6 m/s
3)8m/s
4) 10 m/s

A particle on y-axis starts from rest along a

straight line y = 3 with constant acceleration 2v/3
m/s?. Angle made by position vector of the
particle with positive x—axis after one second of
its motion is

1) 30°

2) 45°

3) 60°

4) 90°
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aleLUTmeflen LTengulen Fwan® Y = a’x — bx?
&6 (OECEENNCE AR L7 BTeoTly SISH6T
(pemeatliL|é BGapmerid

1) tan(b)

2) tan"1(a?)
3) tan"!(ab)

4 tan (a;)

Qb Garyrsder o Ffuled Smbxm 3 M/S
GausiHHe0 GoeOBHTHES e’ L &6 9 m/s
GousdhdHev Hogenwl SemLujd.  CamysHalen
2w
(g =10 m/s?)
1)2.6m
2)3.6m
3)45m
4)5m

sewi® A et semb (1.25 £ 0.01) M eysayb, Hewi®
B @61 permid (2.47 £ 0.01) m  syse b BHHSHT60,
SHeWIBHB6N 6 HenSHaled 2 _6ien Ceumuim(y
1)1.22+0.1

2)1.22+0

3)1.12 £ .02

4)1.22 .02

@ CHICHTL 1960 BEHMHD QH Hibeiear (WHHHLD-
Gmyib (a-t) euewyuL b UL &&60 ST LI (B6TT6ng).
aiseiseflar oyt Geaustd 5 M/S erefled 7
allevmgaaasr (pigaled Bma@ELD Goussid

a (m/s’)
h

2

_523 6 7
1 1 {1 46

>t (s)

-2

1) 5m/s
2) 6 m/s
3) 8 m/s
4) 10 m/s

Y-91&8l60 2 61161 (h HIH6NT, Bleweowiment (LPHEHBLD
23 mis? o _Lairy = 3 613 GHiGHML 1960 @UiaTed
BBbhd CHTLHGIHBH. iHE BUbDSHH6E
alemed&l LIBE& Chiwens X-iFs OHTewiL
Hld6eMeir Blemev GeudbLT (LPeVLD © (THeUTEBLILIL L
Gamemrid

1) 30°

2) 45°

3) 60°

4) 90°
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If diagonals of a parallelogram are (7 — j) and (i
+ J), then area of the parallelogram will be

1) 0.5 unit

2) 1 unit

3) 2 unit

4) 4 unit

A weighing machine provides measurement of
mass (in kg) in four trials as 50.00, 50.20, 50.12
and 50.08 respectively, then

1) Mean absolute error is 0.06

2) Fractional error is 0.002

3) Percentage error is 0.2%

4) Fractional error is 0.01

If two vectors A and B are given to us as, A = 2§
+4j +50 k and B = 5{ + 8] + 50k, the angle
made by vector (A — B) with negative y-axis is
1) 370

2) 530

3) 233°

4) 127°

A man tries to cross the river and has to reach a
point B on the opposite bank of river as shown.
Then the minimum speed relative to water and
direction of swimmer at O so that he can reach
point B is (given river speed is u)

B

1) u/2, 120° with direction of river flow
2) u/2, 60° with direction of river flow

3) 2u/v/3, 60° with direction of river flow
4) 2u/\/3, 120° with direction of river flow

A spring of spring constant k is cut into three
parts of lengths in ratio 1 : 2 : 1. The algebraic
addition of spring constants of these springs will
be

1)k

2) 10k

3) 8k

4) 6k
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Q(H OENETLITET GUMTLIL HEH6I CLPDELAIL L MIb6IT
¢ - ) wpgw ¢ + J) cefed, Sewewwimer
QUMTLL SHFHeoT LITLILIGT6

1) 0.5 unit

2) 1 unit

3) 2 unit

4) 4 unit

aemLuiBd SupbHID Ll  (SGsumaied)
wpemp@uwr 50.00, 50.20, 50.12 wmpid 50.08 ereur
BT6sIG CaFTHamenderiled aULPmIGHS B
1) ggnaf) papemiowime Lienip 0.06 gy@ib
2) testedns tewip 0.002
3) 5zais Llen 0.2%
4) Aesreorts temip 0.01
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56.
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20 +4j + 50 k wpmib B = 50 + 8 + 50k etem
QUPRIBLILILLT6D, GeusLiT o (HeuTdhdlul Gsmmemnib
(K - §) aFJLoem® Y-SIF &

1) 37°

2) 53°

3) 233°

4) 127°
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samruiev 2 siten B Letailenws ojemLwi Geuemi(Bib.
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SimLub Heng (umilest Geusid U)

B

(0]
1) u/2, 120° g @' L SHFest HenaFu L est
2) u/2, 60° B&) QL L ST HenaFu L et
3) 2u/V/3, 60° BE) @I L S&eiT Hewew et
4) 2u//3, 120° B8 I L sSHaT Hena e

amer el K @ar 1 : 2 1 1 e1ai3 aldssHde0
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1)k
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3) 8k

4) 6k
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If power of a force varies with displacement x

2
and time t asP = %, where a and b are

dimensional constants, then the dimensional
formula of [ab] is

1) [ML°T Y

2) [ML2T 9]

3) [ML°T 9]

4) [MOLT‘l]

A particle is moving along x—axis such that its
position X is varying w.r.t. time t is given by x =
(3t2 - 9t). The distance covered by the particle in
first3sis

1)27m

2)6.75m

3)135m

4)54m

If water drops are falling at regular intervals from
a ceiling at a height of 80 m from the floor. If
drops are falling at the interval of 1 s, then height
of third drop from the floor when first drop
reaches the floor is (take g = 10 m s72)

1) 60 m

2)40m

3)20m

4)5m
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@ almgulsr Fogiwmeargd GLUCuwgsFd X
2

ax

wBpib Gy t opemgk P = o, oTe LOTILIBLD
eTeImITey, a @I b Lfliomewr wrpfledsei eTamBmeD,
[ab] ®eir LiflioTewt & S rid

1) [ML°T Y

2) [ML2T 9]

3) [ML°T 9]

4) [MOLT Y

QH HH6T X DFF60 HBHTHMBSHI, DISHGT HeweD X
LTBILGD W.I.t. Ghyib t eteiiuig) X = (3t? — 9t) 60
AUBIBLILBHBH. (WHe0 3 alenmgseiled HiHer
&L HGLD YLD

1) 27 m

2)6.75m

3)13.5m

4) 54 m

soguledmba 80 18 o wgsHdHed o eien
ey Wled (bl Fyment Bl Geueriluiled
Bisglelser allwbgl CsmemiymbsHTe0. 1 allammiy
@ Geuaulled GaTl(BseT alWbHTeL, (PHeL
glefl syl SemLwd Burgl HeFuledHha!
cpeimTeuss slemuier 2 _wiyib (g = 10 10 m s72)
1) 60 m
2) 40 m
3)20m
4)5m
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NEET MACRO TEST 1 (11.12.2024)

Chemistry: Some Basic Concepts of Chemistry, Structure of Atom,
Physics: Units & Measurements, Motion in a Straight Line, Motion in a Plane, Laws of Motion

O©CoOoO~NO O WDN PP

. Answer: (3)
. Answer: (3)
. Answer: (1)
. Answer: (3)
. Answer: (2)
. Answer: (1)

. Answer: (3)
. Answer: (3)
. Answer: (3)
10.
11.
12.
13.
14,
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
27.
28.
29.
30.

Answer: (3)
Answer: (2)
Answer: (3)
Answer: (4)
Answer: (2)
Answer: (3)
Answer: (1)
Answer: (2)
Answer: (2)
Answer: (4)
Answer: (4)
Answer: (3)
Answer: (1)
Answer: (1)
Answer: (1)
Answer: (4)
Answer: (1)
Answer: (1)
Answer: (4)
Answer: (2)
Answer: (1)

1

31.
32.
33.
34.
35.
36.
37.
38.
30.
40.
41.
42.
43.
44,
45,
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.

Answer: (4)
Answer: (2)
Answer: (4)
Answer: (1)
Answer: (1)
Answer: (2)
Answer: (4)
Answer: (1)
Answer: (3)
Answer: (1)
Answer: (1)
Answer: (2)
Answer: (4)
Answer: (2)
Answer: (4)
Answer: (3)
Answer: (4)
Answer: (2)
Answer: (2)
Answer: (4)
Answer: (3)
Answer: (3)
Answer: (2)
Answer: (1)
Answer: (1)
Answer: (1)
Answer: (2)
Answer: (1)
Answer: (3)
Answer: (1)

1 20x4=80 MARKS
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